

Griling Doctors Doctors Distribution

WWW.GFBDAIRY.EU

















ABOUT US



GFB Dairy Company was established in 2019 at Warsaw, Poland. GFB Dairy, is the largest and the most modern Grilling Cheese producer in Europe and situated at the province of Zamość Poland. Our Company, since its establishment, has been offering products of high nutritional value and quality which are always based on the international quality standards whilst preserving the genuineness of each product. Our products are internationally recognised an appreciated due their good quality and the company actively exporting these products more than 21 European countries, Middle East, the UK, New Zealand and Dominican Republic. GFB is the largest producer and exporter company of the Grilling Cheese industry in Poland. GFB Diary Products, after all, was created through

the joint venture with OSM Krasnystaw who is the one of the largest dairy Cooperative of Poland, in 2020. Mr Dengiz Pinar, Founder and the Chairman of GFB Dairy Products and Chairman of the Board of Directors of Biray Food Marketing Company, is from Cyprus which is the home of Halloumi. Mr. Pinar's also has more than 35 years experience in the retail, dairy and dairy products industry from manufacturing to marketing in Turkey, he has become the leading Private Label producer in many domestic markets and brands, particularly Halloumi cheese, Grilling Cheese and Kashkaval Cheese in Turkey. Biray Food Marketing has 90% dominance in the sales of halloumi cheese imported from Cyprus in the Turkish market. Apart from being one of the most powerful exporter of the Grilling Cheese, GFB Dairy has managed to produce Private Label products to the local market of Poland. GFB Launched the Grilling Cheese to Polish market very recently and within a year GFB reached 90% of the market and achieved to sell 200 tons per month. Main key customers for GFB Dairy Products are Costco, Metro-Makro, Carrefour, Tesco, Auchan, Penny Market, Kaufland and Biedronka. This achievement has given us the direction for promoting our Grilling Cheese for the new markets in and out of the EU. The significant recent innovative new products in the short history of the Company has lead us important launches which have significantly changed the consumer-relationship in a more advanced and positive way, as we are always trying to improve the way the Grilling Cheese is produced at our Factory. Apart from the classic good quality Grilling Cheese products we are now producing the Grilling cheese burger, the Grilling Cheese Bites (Pop Corn) and Grill Cheese Fries (Strips) as well as recent brand new innovative product categories such as the Low Fat Grilling Cheese. In addition to these products, the company has become more innovative and has developed further new frozen products such as Breaded Grilling Cheese Strips, Breaded Grilling Cheese Burgers, Breaded Grilling Cheese Bites and the Grilling Cheese Kebabs (Shawarma) as a result of interactive communication with the customers and consumers, but also in general with its unique way of communication with them. All of our products mentioned above are welcomed by the customers and consumers and we are very happy that these products are all in demand.

OUR MISSION

GFB Dairy Products aims to become the best Private Label producer company with its network service experience and the investment which has made in the European industry for the last 12 months and by generating the best quality Grilling Cheese products, for all our existing and new customers all around the world. We Arte continuously working to maximize customer satisfaction with quality, delicious, healthy, and innovative products by ensuring the continuity of production hence producing better products every day. In the short period of time, since its establishment, GFB has started to be known as the delicious and high-quality product producer both in England (which is the largest market of the sector), other European Union countries and the Middle-east and succeed to take over the leadership of the sector. With its innovative product development skills and experience, apart from conventional products, GFB Dairy shall continue to develop new Grilling Cheese products to the world.

THE GRILLING CHEESE

Grilling Cheese offers the perfect taste for your meals fried or grilled at a high temperatures close to melting point, while maintaining its texture without melting and it also keeps its traditional folded shape. The Grilling Cheese as a product has a much wider variety of consumption than other similar cheeses. It can be consumed raw, grilled, fried, air-fried and BBQ'ed. The Grilling Cheese is very healthy product and it is good source of calcium. Because of the low carbohydrate percentage, by including the Grilling Cheese in your meals, you can break your normal dietary habits and can generate distinctive flavors in your low-carb diet. We offer to all our customers freshly packed products which has one year shelf life. The Grilling Cheese Fries (Strips) are made from our Natural Grilling Cheese sliced into sticks and the Grilling Cheese Pop Corn (bites) are made from our natural Grilling Cheese Burger is made from our natural Grilling Cheese but cut as classic burger shape. All our outstanding product varieties can be produced in the natural form and we can add mint, chilli and other

herbs and spices according to your taste and preference. In general, our Grilling Cheese Burger is preferred by our vegetarian customers. This product provides a unique innovative flavor and product to industrial and fast-food chain kitchens and establishments. With this product, which has a strong dietary value, you can keep your kids away from the harmful products of the fast-food products and thus satisfy their protein needs. You can also generate a different range of flavors in your kitchen. The delicious Grilling Cheese can be eaten at breakfast, lunch and dinner, because of its high melting point, it can be consumed raw (as it is), grilled, pan (deep)-fried, air fried and BBQ'ed. It can be sliced, diced and grated over salads, pasta, meat products and variety of soups to generate fresh flavors on your tables. The Grilling Cheese product was produced using microbial cheese yeast (rennet) without any acidic or acid-producing bacteria in its preparation and it is fully vegetarian.





GRILLING CHEESE NATURAL

جبن الشواء الطبيعي



A CAR				
AVERAGE NUTRITIONAL VALUES PER 100 G				
ENERGY (KJ/KCAL)	1272/306			
FAT (G)	24			
SATURATED FAT (G)	16			
SATURATED FAT (G)	1,7			
SUGAR (G)	1,7			
PROTEIN (G)	21			
SALT (G)	2,8			



A Number of the	BARKODE/EAN NR	PRODUCT NAME	ТҮРЕ	PRODUCT Weight (g)	PACKAGE TYPE	PIECES IN BOX	BOX WEITH (KG)	STANDARD PALETTE Quantity	KG IN PALETTE	PALETTE SIZE
	5907753180711	GFB GRILLING CHEESE	NATURAL/LOW FAT	100	FOIL - BOX	72 - 100	7,2-10	100 - 80	720-800	80*120
	5907753180735	GFB GRILLING CHEESE	NATURAL/LOW FAT	200	FOIL - BOX	36-50	7,2-10	100-80	720-800	80*120
	5907753180056	GFB GRILLING CHEESE	NATURAL/LOW FAT	250	FOIL - BOX	32-40	8-10	100-80	720-800	80*120
	5907753180780	GFB GRILLING CHEESE	NATURAL BLOCK	1000	FOIL - BOX	8-10	8-10	100	800-1000	80*120
	5907753182586	GFB GRILLING CHEESE	SLICED	1000	LABEL - BOX	8-10	8-10	80-100	800	80*120

GRILLING CHEESE BURGER – POPCORN – FRIES

برجر جبن الشواء - فشار - أصابع

AVERAGE NUTRITIONAL VALUES PER 100 G					
ENERGY (KJ/KCAL)	1272/306				
FAT (G)	24				
SATURATED FAT (G)	16				
SATURATED FAT (G)	1,7				
SUGAR (G)	1,7				
PROTEIN (G)	21				
SALT (G)	2,8				



BARKODE/EAN NR	PRODUCT NAME	TYPE	PRODUCT Weight (g)	PACKAGE TYPE	PIECES IN BOX	BOX WEITH (KG)	STANDARD PALETTE Quantity	KG IN PALETTE	PALETTE SIZE
5907753182661	GFB GRILLING CHEESE		2 X 50=100		20-64	2-6,4	168-100	336-640	80*120
5907753182418	GFB GRILLING CHEESE		4 X 50=200	LABEL - FOIL - BOX	15-32	3-3,4	144-100	432-640	80*120
5907753181657	GFB GRILLING CHEESE	BURGER	2 X 100=200		15-32	3-6,4	144-100	432-640	80*120
5907753182272	GFB GRILLING CHEESE		6 X 67=402		16	6,432	100	643,2	80*120
5907753183156	GFB GRILLING CHEESE		5 X 100=500		14 - 20	7-10	100 - 80	700-800	80*120
5907753181282	GFB GRILLING CHEESE	FDIFO	185	LABEL - BOX	12-40	2,22-7,4	144-100	319,68-740	80*120
5907753182678	GFB GRILLING CHEESE	FRIES	700		10	7	100	700	80*120
5907753182104	GFB GRILLING CHEESE	DODOODN	185		12-40	2,22-7,4	144-100	319,68-740	80*120
5907753182128	GFB GRILLING CHEESE	POPCORN	700	LABEL - BOX	10	7	100	700	80*120
5907753181763	GFB GRILLING CHEESE		700	LABEL - BOX	10	7	100	700	80*120
5907753183132	GFB GRILLING CHEESE	PIECES	4000	LADEL - BUX	2	8	100	800	80*120

GRILLING CHEESE WITH SPICE AND HERBS

جبن الشواء مع التوابل والأعشاب



AVERAGE NUTRITIONAL VALUES PER 100 G			
ENERGY (KJ/KCAL)	1272/306		
FAT (G)	24		
SATURATED FAT (G)	16		
SATURATED FAT (G)	1,7		
SUGAR (G)	1,7		
PROTEIN (G)	21		
SALT (G)	2,8		



PRODUCT NAME	ТҮРЕ	PRODUCT WEIGHT (G)	PACKAGE TYPE	PIECES IN BOX	BOX WEITH (KG)	STANDARD PALETTE Quantity	KG IN PALETTE	PALETTE SIZE
GFB GRILLING CHEESE	BLOCK MINT/CHILLI/BASIL	1000	LABEL - BOX	8	8	100	800	80*120
GFB GRILLING CHEESE	MINT/CHILLI/BASIL	200	LABEL - BOX	36	7,2	100	720	80*120
		2 X 50 = 100	• LABEL - BOX	20-64	2-6,4	168-100	336-640	
GFB GRILLING CHEESE	BURGER MINT/CHILLI/BASIL	4 X 50 = 200		15-32	3-6,4	144-100	432-640	80*120
OFD OKILLING GREESE	DOROEK MINIT OTHEET DASIE	6 X 67 = 402		16	6,432	100	643,20	00 120
		5 X 100 = 500	1	14	7,0	100	700	
GFB GRILLING CHEESE	FRIES MINT/CHILLI/BASIL	185	LABEL - BOX	12-40	2,22-7,4	144-100	319,68-740	80*120
GFB GRILLING CHEESE	POPCORN MINT/CHILLI/BASIL	185	LABEL - BOX	12-40	2,22-7,4	144-100	319,68-740	80*120

GRILLING CHEESE IN BREADCRUMBS

جبن الشواء مع بالقسماط



AVERAGE NUTRITIONAL VALUES PER 100 G					
ENERGY (KJ/KCAL)	1181/283				
FAT (G)	15,5				
SATURATED FAT (G)	4,2				
SATURATED FAT (G)	22,7				
SUGAR (G)	4,1				
PROTEIN (G)	11,8				
SALT (G)	1,58				







BARKODE/EAN NR	PRODUCT NAME	ТҮРЕ	PRODUCT Weight (g)	PACKAGE TYPE	PIECES IN BOX	BOX WEITH (KG)	STANDARD PALETTE Quantity	KG IN PALETTE	PALETTE SIZE
5907753180735	GFB GRILLING CHEESE	BITES	200	FOIL - BOX	18	3,6	64	230,4	80*120
5907753180759	GFB GRILLING CHEESE	STICKS	200	FOIL - BOX	18	3,6	64	230,4	80*120
5907753180780	GFB GRILLING CHEESE	BURGER	400	FOIL - BOX	18	3,6	64	230,4	80*120

GRILLING CHEESE IN KEBAB

جبن الشواء مع الكباب



AVERAGE NUTRITIONAL VALUES PER 100 G			
ENERGY (KJ/KCAL)	1181/283		
FAT (G)	15,5		
SATURATED FAT (G)	4,2		
SATURATED FAT (G)	22,7		
SUGAR (G)	4,1		
PROTEIN (G)	11,8		
SALT (G)	1,58		



18、19月1日,19月1日,19月1日,王子明月月,二月二月,秋秋天秋秋,19月1日,秋秋秋秋日月,秋秋秋秋,秋天天日 秋秋秋。 19月1日,秋秋秋日,云云云云云云云云云云云云。	the second second for the second	114	
BARKODE/EAN NR PRODUCT NAME TYPE PRODUCT PACKAGE TYPE PIECES IN BOX BOX WE	TH STANDARD PALETTE	KG IN PALETTE	PALETTE SIZE
WEIGHT (G) (KG)	QUANTITY		
5907753180735 GFB GRILLING CHEESE KEBAB 200 FOIL - BOX 20 4	64	256	80*120
5907753180759 GFB GRILLING CHEESE KEBAB 400 FOIL - BOX 16 6,4	64	256	80*120





POLAND - WARSAW - OFFICE

GFB DAIRY PRODUCTS SP. Z 0.0. Z SIEDZIBĄ W WARSZAWIE UL. CIEPLARNIANA 44 A/2, 05-077 WARSZAWA, POLAND P: +48 22 592 17 18 E: INFO.PL@GFBDAIRY.EU

POLAND - ZAMOŚĆ - FACTORY

OKRĘGOWA SPÓŁDZIELNIA MLECZARSKA W KRASNYMSTAWIE Zakład produkcyjny w zamościu Ul. Kilińskiego 81, 22-400 zamość, poland P: +48 84 639 34 86